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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 304 13.7 5 25 54.8 100
2 304 15.9 6 25 63.4 100
3 304 14 6.2 25 56.2 100
4 304 14.8 5.8 25 59.3 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE HEALTH AND SOCIAL CARE – UNIT 8 


Question Answer Mark AO1 AO2 AO3 AO4 


1. (b) 0-2 marks:  Answers that give a basic explanation of 
how children learn according to one cognitive theorist.  
Answers lack detail, with ittle use of specialist 
vocabulary. 


3-4 marks:  Answers that give a clear explanation of 
how children learn according to one cognitive theorist.  
Answers are structured and communicate meaning, 
with some use of specialist vocabulary. 


5-6 marks:  Answers that give a clear, detailed 
explanation of how children learn according to the 
named cognitive theorist.  Answers are well structured 
and clearly expressed.  Specialist terms used with 
ease and accuracy. 


Answers will refer to Piaget or Vygotsky. 


Likely answers may include: 


Piaget – one of the first to point out that children think 
differently to adults. 


Stages of development: 
Sensori-motor stage:  0-2 years 
Pre-operational stage:  2-7 years 
Concrete operational stage:  7-11 years 
Formal operational stage:  11+ years 


6 2 4 
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (b) A child in any particular stage is not able to 
understand or master tasks from the next, higher, 
stage until they are psychologically mature enough to 
do so.  For example, a baby in the sensori-motor 
stage is egocentric and is not able to take anyone 
else’s needs into account, and a child in the pre-
operational stage is unable to really understand 
logical rules. 


Schema – defined as a set of linked mental 
representations of the world, used to understand and 
respond to situations.  These mental representations 
are stored and applied as we need them.  (For 
example, a schema about buying a meal in a 
restaurant is a stored form of the pattern of behaviour 
of looking at a menu, ordering food, eating it and 
paying the bill.  This is an example of a type of 
schema called a ‘script’.) 


Learning – takes place through the processes of: 


• Assimilation – using an existing schema
(knowledge) to deal with a new object or situation.


• Accommodation – the existing schema
(knowledge) does not work and needs to be
changed to deal with a new object or situation.


• Equilibration – the force which moves
development along.  Piaget believed that cognitive
development did not progress at a steady rate but
rather in leaps and bounds.  A child’s schemas
can deal with most new information through
assimilation.


• Disequilibrium – occurs when new information
doesn’t fit into existing schemas (assimilation).


Vygotsky – his theories place more emphasis on 
culture.  He stressed the fundamental role of social 
interaction in learning. 


Social interaction plays a fundamental role in the 
development of cognition. 


More emphasis is given to the role of language – 
Vygotsky believed that language and thought develop 
independently in young children up to 2 years, but 
between 2 and 7 years, language and thought 
become interdependent. 


Up to 2 years, a child performs actions which are 
given meaning by the carer, e.g. grasping action 
interpreted as pointing, and uses the properties of 
objects to name them, e.g. ‘woof woof’ for a dog. 


(Cont’d) 
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (b) Zone of proximal development – the gap between 
what a child can do now and what they can do with 
support from a ‘more significant other’, e.g. parent, 
carer, older sibling, teacher.  Can only be achieved 
through social interaction and problem-solving with a 
more knowledgeable person/an adult, e.g. parent 
helping young child to complete first jigsaw. 


(Cont’d) 












Sticky Note

This is a very good answer in which Piaget's stages were correctly identified and well explained. The key feature associated with each stage was also correctly identified. The answer would have been awarded full marks had these key features been explained in more detail, particularly with regard to the Formal Operations stage, e.g. reference to the pendulum tasks, or reference to the fact that not everyone will achieve formal  operations. 












Sticky Note

A well written explanation of Vygotsky's theory of cognitive development including key aspects i.e. the zone of proximal development, scaffolding and the role of language and others in supporting / facilitating cognitive development. Maximum marks awarded. 












Sticky Note

This answer contains a clear explanation of how cognitive development occurs according to Vygotsky. The focus is on the role of social interaction and language and several useful examples are used to illustrate the points made. Use of some key terms. The answer demonstrated clear knowledge and understanding. Maximum marks awarded. 












(1628-01) Turn over.


1
6


2
8


0
1


0
0


0
3


3
Examiner


only
	 (b)	 Explain, according to one cognitive theorist, how children learn.	 [6]
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (c) 0-3 marks:  Answers that give a basic account of how 
family influences social behaviour.  Answers lack 
detail, with little use of specialist vocabulary. 


4-5 marks:  Answers that make some attempt to 
discuss how family influences social behaviour.  
Answers convey meaning, with some use of specialist 
vocabulary. 


6-7 marks:  Answers that discuss in detail how family 
influences social behaviour.  Answers are well 
structured and clearly expressed.  Specialist terms 
used with ease and accuracy. 


Likely answers may include: 


Primary socialisation:  children learn social skills and 
patterns of behaviour within the context of the family. 


Children become socialised through interactions with 
parents, siblings, relatives. 


Nurturing families have children who are more likely to 
be socially skilled – impacts on the whole of their lives. 


Parents who are sociable themselves act as models 
for the child so tend to have more sociable children. 


Parent-child interactions, as well as those with other 
family members such as siblings and grandparents, 
encourage social skills/behaviours in young children: 
• learning pro-social/anti-social behaviours
• forming relationships with others
• sharing and co-operating with others
• parenting style – children of authoritarian parents


often have difficulty relating to others
• parents who are more democratic, e.g. give


reasons for rules, have children who are more
likely to be socially active and open minded


7 2 3 2 








Sticky Note

A good answer that makes reference to the family having taught Megan how to be sociable through the demonstration of social skills at home. However, there is some lack of detail e.g. the parents providing opportunities and experiences for Megan to socialise is mentioned but higher marks would have been awarded had the candidate used examples such as  the kind of opportunities. Similarly, mention of specific social skills.  












Sticky Note

A good answer that took a little time to make clear the role of family type. However, the influence of extended family members on social behaviour was clearly discussed with a focus on social interaction, modeling of social support and development of language skills.  Full marks would have been awarded had there been more examples of specific social skills as stated in the mark scheme. 












Sticky Note

This is a detailed answer with several examples used to demonstrate clear knowledge and understanding of the family's influence on social behaviour. Towards the end of the answer, the candidate also included discussion of  physical and psychological aspects of behaviour which are not required by the question. In addition, the inclusion of punishment was not credited as this is not considered to be desirable parenting strategy for  influencing behaviour. 
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	 (c)	 Discuss the influence of family on the social behaviour of young children like Megan.	 [7]
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (d)  0-4 marks:  Answers that show basic knowledge and 
understanding of psychoanalysis.  Answers lack detail 
and contain inaccuracies, with little or no use of 
specialist vocabulary. 
 
5-7 marks:  Answers that make some attempt to asses 
and show some knowledge and understanding of how 
psychoanalysis could be used to help Peter.  Answers 
convey meaning, with some use of specialist 
vocabulary. 
 
8-10 marks:  Answers that assess, showing clear 
evidence of understanding, how psychoanalysis could 
be used to help Peter.  Answers are well structured 
and clearly expressed.  Specialist terms used with 
ease and accuracy. 
 
Likely answers may include: 
 
Psychoanalysis – a talking therapy that can be used 
with adults in individual or group settings. 
 
It can be a long process, involving regular sessions 
over months, or even years, although the trend now is 
for briefer interventions. 
 
The analyst uses a range of techniques, e.g. free 
association, projective testing, e.g. the Rorschach ink 
blot test, analysis of patient’s dreams, nightmares and 
fantasies to examine the problems/symptoms 
underlying unconscious conflicts, e.g. Peter’s anxiety 
about going into hospital. 
 
The analyst attempts to bring these unconscious 
conflicts into the patient’s consciousness to help the 
patient understand, confront and resolve them.  If Peter 
can be helped to understand why he is afraid of going 
into hospital, then he will gain insight into his own 
behaviour.  With this professional help and support, he 
should be able to overcome his fears/anxiety and 
address his behaviour in a positive way.  Peter will be 
able to talk to someone ‘neutral’ about how he is 
thinking and feeling and what might be behind his 
behaviour. 


10   5 5 
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (d)  Assessment: 
• offers an in-depth perspective 
• better than no treatment but not necessarily better 


than other treatments, e.g. CBT, drug therapy 
• useful for a wide range of difficulties 
• works well in cases of mild disturbance 
• helps bring insight to problems by uncovering 


underlying issues and so bring about behaviour 
change 


• not suitable for everything, e.g. serious mental 
disturbances such as schizophrenia 


• costly 
• may not be available locally 
• time-consuming – requires considerable 


commitment from the individual – although trend 
now is for brief interventions 


• Peter’s condition may deteriorate and physical 
health worsen whilst undergoing therapy 


• not possible to test and corroborate ideas about 
repressed anxiety 


• difficult to measure or define the ‘success’ of a cure 


     


(Cont’d) 


   Total for Question 3 25 7 6 6 6 
 
  








Sticky Note

A good answer that assesses psychoanalysis. However, whilst a clear account of dream analysis is given, other psychoanalytic techniques were omitted i.e. free association and Rorschach Ink blots. Similarly, assessment could have focused on more significant points such as the time consuming nature and expense of the therapy in which case, full marks would have been awarded. 












Sticky Note

This is a very good answer in which the candidate accurately identifies and clearly describes several psychoanalytic techniques that could be used during psychoanalysis. Clear references to how it could be used to help Peter. Appropriate examples are used to illustrate points made. There is good use of key terms throughout. Assessment focuses on relevant issues. Maximum marks awarded. 
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	 (d)	 Assess how psychoanalysis could be used to help Peter overcome his fear of going into 
hospital.	 [10]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	







